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< 2—8(1) [ A MREAT#EF (1/2)

(a)NS J71f]
& A 1 (s)
R fii &
MRETET L AR TEET v

1 0.237 0.237 EXINDIR/N
2 0.124 0.123 2R 2 K
3 0.118 0.116
4 0.097 0.097 R 3K
5 0.093 0.093
6 0. 089 0. 089

0.081 0. 082
8 0.076 0.074
9 0.073 0.072
10 0. 068 0.068
11 0. 066 0. 066
12 0.064 0.064
13 0.061 0. 060
14 0.059 0. 059
15 0.054 0. 054
16 0. 052 0. 052
17 0.051 0. 051
18 0.051 0. 050
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< 2—8(2) [ AT HE R (2/2)

(b) EW 75 [f1
[ A7 J# 45 (s)
R fii &
BEtE T v A E LR E TV

1 0.230 0.230 ESXINEIR/N

2 0.125 0.125 2R 2 )

3 0.118 0.116

4 0.099 0.098

5 0.092 0.091

6 0.088 0. 087 EXINRI/N

7 0.079 0.078

8 0.075 0.074

9 0.070 0.070

10 0. 069 0.068

11 0. 065 0.064

12 0.062 0. 062

13 0. 060 0. 060

14 0.058 0. 059

15 0.055 0.055

16 0.055 0. 054

17 0.051 0. 050

(c)UD J5m
i A7 & 1 (s)
R fii &
BEE TV AlE TR#EET IV

1 0.339 0.339 BR N7 A 1K
2 0.102 0.100 AR 1R

3 0.079 0.079 BAR N T X 2K
4 0.051 0.051

5 0.044 0.043 R 2 )

6 0.028 0.027

7 0.021 0.021 R 3
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#2-9(1) JBRICEMEEOLE (NS Hin) (HAL : em/s?)

AR B BitE 7 1 sETREFL | LT
1 1509 1536 0.98
2 1108 1121 0.99
3 1097 1103 0.99
4 1001 1025 0.98
5 818 835 0.98
6 4154 4173 1. 00
7 2257 2310 0.98
3 1573 1582 0.99
9 1316 1325 0.99
10 1087 1094 0.99
11 1076 1089 0.99
12 846 861 0.98
13 1998 1988 1. 01
14 1424 1525 0.93
15 1052 1091 0.96
16 967 987 0.98
17 803 820 0.98
18 4604 4619 1. 00
19 2447 2508 0.98
20 1748 1783 0.98
21 1697 1704 1.00
22 1261 1283 0.98
23 1257 1265 0.99
24 913 947 0. 96
25 1754 1771 0.99
26 1284 1236 1.04
27 1175 1185 0.99
28 1077 1092 0.99
29 830 848 0.98
30 613 612 1. 00
31 592 590 1. 00
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#2-9©2) EBRICEMEEDLE (EWH5H) (AL : em/s?)

AR B BitE 7 1 sETREFL | LT
1 1586 1577 1. 01
2 1357 1347 1. 01
3 1058 1064 0.99
4 995 999 1.00
5 798 836 0.95
6 1473 1440 1.02
7 1213 1260 0.96
3 1218 1176 1.04
9 985 962 1.02
10 3751 3838 0.98
11 2262 2368 0.96
12 1727 1765 0.98
13 1322 1306 1. 01
14 1118 1173 0.95
15 1930 1937 1.00
16 1303 1304 1.00
17 1036 1049 0.99
18 1150 1097 1.05
19 1005 976 1.03
20 3975 3902 1.02
21 2487 2355 1.06
22 1656 1702 0.97
23 1719 1675 1.03
24 1338 1360 0.98
25 1133 1104 1.03
26 941 922 1.02
27 1595 1646 0.97
28 1320 1328 0.99
29 1110 1143 0.97
30 986 978 1.01
31 813 817 1. 00
32 630 644 0.98
33 593 605 0.98
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#2—903) ERISEMHEDLE (UD J5m) (HAL @ cm/s?)

TE Bt E 7L sETREFL | LT
| 3811 3767 1ol
2 1330 1362 0. 98
3 3274 3165 .03
4 1623 1546 1. 05
5 1482 1429 1.04
6 1415 1353 1. 05
7 1229 1188 1.03
8 989 969 1.02
9 730 734 0.99
10 594 601 0. 99
I 533 538 0. 99
12 179 185 0. 99

BIHE 1-27




#2—1001) HmRICEFEAM S OHE (NS Fm) (X107 kN)
A Brite 7 1 sETREFL | LT
(1) 72.2 74.5 0.97
(2) 142 145 0.98
(3) 207 212 0.98
(4) 260 265 0.98
(5) 301 305 0.99
(6) 30. 6 30. 9 0.99
(7) 58.3 58. 3 1. 00
(8) 159 164 0.97
(9) 265 270 0.98
(10) 348 356 0.98
(11) 400 406 0.99
(12) 451 456 0.99
(13) 67.9 64. 5 1.05
(14) 177 180 0.98
(15) 189 193 0.98
(16) 199 198 1.01
(17) 269 262 1.03
(18) 31.3 31.8 0.98
(19) 55. 4 56. 2 0.99
(20) 172 174 0.99
(21) 275 278 0.99
(22) 374 382 0.98
(23) 432 440 0.98
(24) 500 509 0.98
(25) 83.0 85. 0 0.98
(26) 167 172 0.97
(27) 219 225 0.97
(28) 272 277 0.98
(29) 306 312 0.98
(30) 2113 2108 1. 00
(31) 13.3 13.4 0.99
(32) 20.6 20.7 1. 00
(33) 14.1 14.5 0.97
(34) 20. 1 20. 2 1. 00
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#2—10(2) HERISETAW ) OE (EW Fm) (X10° kN)
e BitE 7 A sETREFL | LT
(1) 112 114 0.98
(2) 152 155 0.98
(3) 233 237 0.98
(4) 273 277 0.99
(5) 310 315 0.98
(6) 180 183 0.98
(7) 327 333 0.98
(8) 402 411 0.98
(9) 464 471 0.99
(10) 32. 4 33.3 0.97
(11) 49.8 50.9 0.98
(12) 128 131 0.98
(13) 101 104 0.97
(14) 107 108 0.99
(15) 179 180 0.99
(16) 217 217 1. 00
(17) 197 197 1.00
(18) 263 259 1.02
(19) 37. 4 37.6 0.99
(20) 60. 1 60. 1 1. 00
(21) 141 145 0.97
(22) 242 244 0.99
(23) 348 352 0.99
(24) 408 416 0.98
(25) 451 460 0.98
(26) 85. 2 87.2 0.98
(27) 155 157 0.99
(28) 221 226 0.98
(29) 259 263 0.98
(30) 306 312 0.98
(31) 2065 2091 0.99
(32) 22.1 22.2 1. 00
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#2—-11(11) HEXEEMFTE—2A bokk# (NS Hm\) (1/2) (X10° kN-m)
A Bt 7 sETREFL | LT
(1) k¥ 0.197 0.203 0.97
(1) T 0.883 0.910 0.97
(2) L 1. 04 1. 09 0.95
(2) T % 2.09 2. 17 0.96
(3) ki 2.33 2. 43 0. 96
(3) T ¥ 4. 20 4.34 0.97
(4) kv 4.39 4.55 0.97
(4) T ¥ 6. 04 6.23 0.97
(5) L 6.16 6.37 0.97
(5) T 8.13 8. 35 0.97
(6) Vi 0. 0440 0. 0437 1.01
(6) T ¥ 0.328 0.330 0.99
(7) b 0.639 0. 650 0.98
(7) T 1.08 1.09 0.99
(8) L 1.87 1.99 0.94
(8) T i 3.50 3.62 0.97
(9) L 4.54 4.68 0.97
(9) T 6.27 6. 52 0. 96
(10) ¥ 7.05 7.32 0. 96
(10) T ¥ 9.69 10. 03 0.97
(11) k¥ 10. 23 10. 56 0.97
(11) T 12. 47 12.85 0.97
(12) kg 12. 86 13. 26 0.97
(12) T ¥ 15. 49 15. 99 0.97
(13) I 0.616 0.621 0.99
(13) T ¥ 1.16 1.16 1. 00
(14) b 1.84 1.86 0.99
(14) T ¥ 2.63 2. 60 1.01
(15) ¥ 3. 26 3.24 1.01
(15) T ¥ 4.10 4. 06 1.01
(16) ¥ 4. 41 4.34 1.02
(16) T ¥ 5.00 4.92 1.02
(17) I 5.16 5.09 1.01
(17) T 7.33 7.28 1.01
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#2—-11(2) ERXEEZMFE—2A2 bokk# (NS Hm\) (2/2) (X10° kN-m)
A Bt 7 sETREFL | LT
(18) k¥ 0. 0520 0. 0539 0. 96
(18) T ¥ 0.339 0. 346 0.98
(19) ko 0.625 0.646 0.97
(19) F ¥ 1.06 1.08 0.98
(20) ¥ 2. 30 2. 36 0.98
(20) T ¥ 3.71 3.91 0.95
(21) b 5.28 5.34 0.99
(21) T ¥ 6.98 7.26 0.96
(22) I 7. 80 8.10 0.96
(22) T 10. 60 11.07 0.96
(23) L 11.07 11.60 0.95
(23) T 13. 36 13.95 0. 96
(24) ¥ 13.75 14. 42 0.95
(24) T ¥ 16. 45 17.22 0.95
(25) ki 0.326 0.356 0.92
(25) T ¥ 1.13 1.18 0.96
(26) ¥ 1.61 1.69 0.95
(26) T ¥ 2.71 2. 83 0. 96
(27) b 3.08 3.23 0.95
(27) T ¥ 4.67 4.86 0.96
(28) ¥ 4.97 5.18 0.96
(28) T 6.61 6.61 1. 00
(29) I 6.78 6. 80 1.00
(29) T ¥ 8.97 9.01 1. 00
(30) I 56.58 56.97 0.99
(30) T ¥ 67. 66 68. 52 0.99
(31) k¥ 0.0338 0. 0369 0.92
(31) T ¥ 0. 156 0.161 0.97
(32) 0.0537 0.0524 1.03
(32) T ¥ 0.121 0.122 0.99
(33) k¥ 0.0381 0. 0422 0. 90
(33) T 0.165 0.172 0.96
(34) k¥ 0.0421 0. 0454 0.93
(34) T 0.162 0.162 1. 00
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F2-1103) HmRIGEHMTE—A L boLk® (EW Am) (1/2) (X10° kN+em)
R BitE 7 1 sETREFL | LT
(1) k¥ 0.871 0. 796 1.09
(1) T 1.88 1.92 0.98
(2) b 2.56 2. 59 0.99
(2) T 3. 60 3.67 0.98
(3) L 4.07 4.12 0.99
(3) T 5.82 5.91 0.99
(4) b 6.16 6.24 0.99
(4) T ¥ 7.80 7.76 1.01
(5) L 7.96 7.97 1. 00
(5) T 10. 21 10. 07 1.01
(6) ¥ 0.875 0.916 0.96
(6) T ¥ 1.96 2.04 0.96
(7) by 3.51 3. 69 0.95
(7) T ¥ 5.98 6. 22 0. 96
(8) L 12.12 12.61 0. 96
(8) T ¥ 14. 36 14. 96 0.96
(9) L 14.97 15. 66 0.96
(9) T % 17. 48 18. 32 0.95
(10) ko 0.198 0.209 0.95
(10) F ¥ 0.501 0.519 0.97
(11) b 0. 760 0. 784 0.97
(11) T ¥ 1.12 1.13 0.99
(12) k¥ 4.07 4.15 0.98
(12) T ¥ 4. 41 4.43 1. 00
(13) I 6. 54 6.59 0.99
(13) T ¥ 6. 65 6. 69 0.99
(14) ¥ 0.700 0.716 0.98
(14) T ¥ 0.759 0.766 0.99
(15) i 1.20 1.20 1.00
(15) T ¥ 1.28 1.23 1. 04
(16) 1.58 1.56 1.01
(16) T ¥ 3.35 3.35 1. 00
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F2—114) RERISEMFTE—A Mokl (EWHm) (2/2) (X10° kN-m)

R BitE 7 1 sETREFL | LT
(17) ¥ 3. 50 3.52 0.99
(17) T ¥ 4. 30 4.31 1. 00
(18) I 4. 41 4.43 1. 00
(18) T ¥ 6.37 6. 36 1. 00
(19) ko 0.131 0. 150 0.87
(19) T ¥ 0.452 0.470 0.96
(20) ko 0.563 0.594 0.95
(20) T ¥ 0.989 1.03 0.96
(21) b 2.99 3.13 0.95
(21) T 4.41 4.53 0.97
(22) ¥ 5.93 6.25 0.95
(22) T 7.64 7.99 0. 96
(23) ¥ 8.34 8. 88 0. 94
(23) T ¥ 11.01 11.57 0.95
(24) ¥ 11.57 12.28 0. 94
(24) T ¥ 13.85 14. 59 0.95
(25) ki 14. 25 15. 06 0.95
(25) T ¥ 17.25 17. 89 0.96
(26) | 0.239 0.252 0.95
(26) T ¥ 1. 00 1.02 0.98
(27) b 1.25 1.30 0.96
(27) T ¥ 2.32 2.37 0.98
(28) ¥ 2. 65 2.73 0.97
(28) T ¥ 4. 48 4.57 0.98
(29) I 4.83 4.93 0.98
(29) T ¥ 6. 48 6.61 0.98
(30) I 6. 72 6. 87 0.98
(30) T ¥ 8.89 9.05 0.98
(31) ki 59. 43 60. 80 0.98
(31) T ¥ 70. 06 71.51 0.98
(32) k¥ 0. 0898 0.0932 0.96
(32) T ¥ 0.232 0.234 1. 00
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#£2—12(11) ERISETEALMOTHOEE (NS M) (X107°)

BT Bt 7L sETREFL | LEETME
(1) 0.497 0. 496 1. 00
(2) 0.565 0.548 1.03
(3) 0. 494 0.485 1.02
(4) 0.311 0.305 1.02
(5) 0.438 0.419 1.05
(6) 0.904 0.914 0.99
(7) 1.011 1. 037 0.97
(8) 0.508 0.505 1.01
(9) 0.618 0.601 1.03
(10) 0.573 0. 559 1.03
(11) 0.377 0. 366 1.03
(12) 0. 464 0.439 1.06
(13) 0.157 0. 149 1.05
(14) 0.301 0.301 1. 00
(15) 0.315 0.319 0.99
(16) 0.400 0. 354 1.13
(17) 0.292 0. 284 1.03
(18) 0.962 0. 989 0.97
(19) 0.892 0.922 0.97
(20) 0.623 0.612 1.02
(21) 0.754 0.732 1.03
(22) 0.595 0.577 1.03
(23) 0. 383 0.373 1.03
(24) 0.544 0.527 1.03
(25) 0.558 0.549 1.02
(26) 0.575 0.565 1.02
(27) 0.576 0.567 1.02
(28) 0.354 0.347 1.02
(29) 0.482 0. 468 1.03
(30) 0.038 0.038 1. 00
(31) 0.906 0.916 0.99
(32) 0. 969 0.992 0.98
(33) 0.963 0.990 0.97
(34) 0.854 0.879 0.97
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#F2—1212) HEREEFAMOTHOEE (EW 5HE) (X107°)

e BitE 7 0 sETREFL | LEETME
(1) 0.574 0. 556 1.03
(2) 0. 458 0. 440 1.04
(3) 0.506 0.491 1.03
(4) 0.275 0.269 1.02
(5) 0.362 0. 354 1.02
(6) 0. 350 0.338 1.04
(7) 0.607 0.585 1. 04
(8) 0.293 0.294 1. 00
(9) 0.398 0. 382 1.04
(10) 0.452 0. 444 1.02
(11) 0.755 0.767 0.98
(12) 0.383 0.378 1.01
(13) 0.416 0.421 0.99
(14) 0.185 0.187 0.99
(15) 0.315 0.297 1.06
(16) 0.529 0.486 1.09
(17) 0.383 0.346 1.11
(18) 0.268 0.264 1.02
(19) 0.708 0.683 1. 04
(20) 0.741 0.703 1.05
(21) 0.507 0.495 1.02
(22) 0. 650 0.620 1.05
(23) 0.528 0.502 1.05
(24) 0.285 0.282 1.01
(25) 0.392 0.386 1.02
(26) 0. 550 0.543 1.01
(27) 0.612 0. 604 1.01
(28) 0. 459 0.453 1.01
(29) 0.274 0.269 1.02
(30) 0.338 0.335 1.01
(31) 0.035 0.036 0.97
(32) 0.747 0. 760 0.98
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d. KiZh HBHES (1) KO02)) DR RKIGEE BT 4

KA—4 IR ITR (BMFS (D ROA2) 2FERBERE LEEHEOKTr —AD
BRRISEEAMOTHERT, ETOFr—2ADRRISEFALHOTHIL, M ES
(1) T 0.44%x10° (¥—22, Ss—D2), #M&FEL(12) TIEL0.24X107° (F—
A2, Ss—D2) LZpoTWD, HMES ML, OCEIBELDLINDE
PIFOT I (0.2~0.3X107%) A TWVDEHEDDE 247 A D 0.468 X107 (F 4—
3BM) UTFTHHILEMB L, ZNHOMEENS, KiZh (BMEIZh) 28
HALEERRET VL, RETHFHMET L E L THEER RN EB Z 65,

K4—4(1) WREFRIEREETNVORIZTRDORKRICEEABHOT H (F—2 1)

r—2 | AN¥E | EBHES | Yme (<107)

1 Ss-D1 (7) 0.39
(12) 0.23

Ss-D2 (7) 0.42

(12) 0.23

Ss-D3 (7) 0.32

(12) 0.18

Ss-F1 (7) 0.17

(12) 0.12

Ss-F2 (7) 0.32

(12) 0.17

Ss-F3 (7) 0.27

(12) 0.15

Ss-N1 (7) 0.26

(12) 0.14

BIHE 1-1-67



#4—42) WRIETRIEBREET NVORITROEKKRIGEEALBOT H (F—2R 2)

r—2 | AT | MBS | Y (X107)

2 Ss-D1 (7) 0.41
(12) 0.23

Ss-D2 (7) 0.44

(12) 0.24

Ss-D3 (7) 0.33

(12) 0.18

Ss-F1 (7) 0.18

(12) 0.12

Ss-F2 (7) 0.32

(12) 0.17

Ss-F3 (7) 0.29

(12) 0.15

Ss-N1 (7) 0.26

(12) 0.14

#4—43) WRITRIIFEMREET VORITROHEKKIGEEALMOT H (F—2A3)

=2 | AT | EHES | Y (X107)

3 Ss-D1 (7) 0.37
(12) 0.21

Ss-D2 (7) 0.40

(12) 0.22

Ss-D3 (7) 0.31

(12) 0.17

Ss-F1 (7) 0.16

(12) 0.11

Ss-F2 (7) 0.30

(12) 0.17

Ss-F3 (7) 0.25

(12) 0.14

Ss-N1 (7) 0.25

(12) 0.14

AL 1-1-68



F4—44) WRITRIEBREET NVORITROEKKRIGEEALBOT H (F—2R 4)

r—2 | AT | MBS | Y (X107)

4 Ss-D1 (7) 0.39
(12) 0.23

Ss-D2 (7) 0.36

(12) 0.20

Ss-D3 (7) 0.26

(12) 0.15

Ss-F1 (7) 0.17

(12) 0.12

Ss-F2 (7) 0.30

(12) 0.16

Ss-F3 (7) 0.25

(12) 0.15

Ss-N1 (7) 0.32

(12) 0.17

#4—4056) WRIZRIIFEMEET VORITROHEKKIGEEALBOT H (7 — A 5)

=2 | AT | EHES | Y (X107)

5 Ss-D1 (7) 0.40
(12) 0.24

Ss-D2 (7) 0.37

(12) 0.21

Ss-D3 (7) 0.27

(12) 0.16

Ss-F1 (7) 0.18

(12) 0.12

Ss-F2 (7) 0.31

(12) 0.17

Ss-F3 (7) 0.25

(12) 0.15

Ss-N1 (7) 0.33

(12) 0.18

AL 1-1-69



#4—406) WRITRIEREET VORITROEKKRIGEEALBOT H (F—26)

r—2 | AT | MBS | Y (X107)

6 Ss-D1 (7) 0.38
(12) 0.22

Ss-D2 (7) 0.33

(12) 0.19

Ss-D3 (7) 0.25

(12) 0.15

Ss-F1 (7) 0.16

(12) 0.11

Ss-F2 (7) 0.29

(12) 0.15

Ss-F3 (7) 0.24

(12) 0.15

Ss-N1 (7) 0.30

(12) 0.16

BHE 1-1-70



